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) b / 2) \ 3) Increase91by Y,
a o] c A=T77
Mesasure angle boc Find the Angle at side B.
Answer: Answer: Answer:
4) 85 x (-36) 5) 22 16 X 82/19 6) Round 15.570233776374709 to 10
significant figures.
Answer: Answer: Answer:
7) (17 x5) - 10+ 112 8) (17 x 5) - 10 + 112 9) 83 x 100
Answer: Answer: Answer:
10)  4803.8+ 73513 11) (-25) x (-81) 12) (-1584) - 36
Answer: Answer: Answer:
13)  8722+89 14) 2152 15)  Convert the following mixed number
2518/, 4 into an improper fraction.
Answer: Answer: Answer:
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‘Name the type of angle.

Answer:

; .14
mixed number: /12

Answer:

16) 1975+ 30 4 17) / 18)  (-9564) - 8702
A B =80
Find the Angle at side A.
Answer: Answer: Answer:
19) (-5510) + (-58) 20) Factorisef2+5f + 6 21) Solve by factorising
f2+8f+15=0
Answer: Answer: Answer:
22)  Anamount wasincreased by 10% to 23) 06:37 am To 02:24 pm 24) A number is chosen at random from
$202.00. Find the original amount. 1to 75. Find the probability of
selecting number less than 16.
Answer: Answer: Answer:
25)  3256.4+ 75138 26) 11+ % 27)  What would you multiply by to
increase an amount by 50%7?
Answer: Answer: Answer:
28) 29) Convert the following fraction into a 30)

'Name the type of angle.

Answer:
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31)  5570.8+5329.1

32) /

33) 9200+ 100

A B =65
Find the Angle at side A.
Answer: Answer: Answer:
34) nl/n20 35) Find the range of the following set of data: 36) A number is chosen at random from
0,3 1 to 75. Find the probability of
selecting multiples of 17.
Answer: Answer: Answer:

37) 8712 - 8578

38) A number was shared in theratio
60:22. The larger share was 60.
What was the smaller amount?

39) 5000 + 100

Answer: Answer: Answer:
40) 1988+ 2364 41) Find area of 42) Factorise 7j2 + 32 + 16
b rectangle having
sidesa=37361in
a andb=1661in
Answer: Answer: Answer:

43)  92%of 418

Answer:

44)  Factorise 5d2 + 12d + 4

Answer:

45) 09:32 am To 04:33 pm

Answer:
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46) Find the range of the following set of data: 47) 36/19 + 40/7 48) 37% of 147
-7,0,-7, 10, -7,-15
Answer: Answer: Answer:
49) 6 A 50) 6 A 51) Convert the following fraction into a
8 8 mixed number: 80/,
Answer: Answer: Answer:
52) Find the value of 'q' by completing 53) Simplify 15:37 54) 70 x 1000
the square of the following equation:
2+4q+4
Answer: Answer: Answer:
55) Convert the following fractioninto a 56) 8158 - 7786 57 b
mixed number: 33/,
a 0 c
Measure angle boa
Answer: Answer: Answer:
58)  Factorisex2 + 12x + 20 59) 30/, 5+ 381, 60) 2340+ (-8105)
Answer: Answer: Answer:
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61) 1681 x 8519 62) g5/8 63) Find area of
14 triangle
a7 b b a=3152m,b=
4215 m
a
Answer: Answer: Answer:
64) g+ 3y 65)  54x 1000 66) Find area of
. triangle s=7042in
s
Answer: Answer: Answer:
67) Find area of 68) 1132 - (-2949) 69) (3x 1) - (9x 101
b rectangle having
sidesa=5019m
a and b=4774m
Answer: Answer: Answer:
70) (3x 16 - (9x 101 71) (3x 19 - (9x 10Y 72)
Find the next three numbersin
the sequence
125,120,600,595,2975,2970,14850 , |
Answer: Answer: Answer:
73) (-94) x (-88) 74) 29000+ 1000 75)  Simplify 14:48
Answer: Answer: Answer:
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2+8d+15

Answer:

the square of the following equation:

H .61
mixed number: /39

Answer:

76)  Simplify 14:48 77)  Simplify 14:48 78) 137 x 18/
Answer: Answer: Answer:

79 2135 + 6422 80) 95 x (-41) 81) 95 x (-41)
Answer: Answer: Answer:

82) Solvel4g?-1q-14=0 83) Round 11.4575672 to 6 significant 84)  What would you multiply by to
Round your solutions to 1 decimal figures. increase an amount by 24%7?
place.

Answer: Answer: Answer:
85) 76 X (-27) 86) 87) 142/, + 3210/,
Find VVolume of
Pentagonal Pyramid
31
Answer: Answer: Answer:
88) Find the value of 'd' by completing 89) Convert thefollowing fractioninto a 90)  Findthemeanof the following st of data

0, 0.6, 66, 77, 1, 0.6, 80

Answer:
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‘Name the type of angle.

Answer:

Answer:

91) Find the mean of the following set of data: 92) Find the mean of the following set of data: 93) Write 30 in standard form.
0, 0.6, 66, 77, 1, 0.6, 80 0, 0.6, 66, 77, 1, 0.6, 80

Answer: Answer: Answer:

o) WG+ 9%5)  24,x5 %) Find perimeter of

. triangles= 7424 in
s

Answer: Answer: Answer:

97) 98) Round 2.976430 to 2 decimal places. 99) (-4230) + 90

Answer:

100) 5x12+14-15

Answer:

Total: /100
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1) 38 2) 103
8) 9) 8300

493 3
15) 4%, 16)4%4
22) $183.64 23) 07 Hours 47 Mins
29) 1Y 30) Right

4
36) 45 37) 134
43)384.56  44) (1d+2)(d +2)

1

50) 4 51) 3%
57) 140 58) (x + 2)(x + 10)

52
64) 52/, 65) 54000
71) -87 72) 14845,74225,74220,
78)9%,;  79)8557
85) 86) 19289.419122937
92)32.17  93)3x 10!
99) -47 100)

3)98

10) 12155.1

17) 100

24) Y

31) 10899.9

38) 22

45) 07 Hours 01 Mins
52) (q+2)2

59) 411/,

66) 21472997.695838in
73)

80)

87) 88,4

94) 210/,
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Answers:

4) 5) 1747/
11) 12) -44

18) -18266 19) 95

25) 10770.2 26) 87/,

32) 115 33) 92

39) 50 40) 4352

46) 25 47) 78Y 4
53) 15: 37 54) 70000
60) -5765 61) 14320439
67) 23960706m  68) 4081

74) 29 75)7:24

81) 82)g=1or-1
88) (d+4)2-1  89) 1%,
95) 7%, 96) 22272in

Sr: 06062020-1562

{ERA i

6) 15.57023378
13) 98

20) (f + 2)(f + 3)
27)15

34) n2l

41) 6205496in
48) 54.39

55) 17/

62) 82

69) -87
76)7:24

83) 11.4576
90) 32.17

97) Straight

=

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7

14) 2,
21)f=-3o0r-5
28) Straight

353

42) 1+ 4 +49
49) 4

56) 372

63) 4302026.2266202m
70) -87

0 7:24

84) 1.24

91) 32.17

98) 2.98
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